BLUEPRINT OF BIOLOGY
CLASS - XI

Total number of Questions should be 35
Question booklet is to be divided into two sections, A and B.

Section 'A' is Botany containing 17 questions & Section 'B' is
Zoology containing 18 questions

Each question carries 2 marks.
All the questions are compulsary

The question should be of multiple choice questions
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BOTANY (SECTION-A)

SL. No. Of % TOTAL
NIT TOPIC .
NO K = Question | WEIGHTAGE MARKS
I
1 |DIVERSITY IN THE|PLANT KINGDOM 2 11.8 02 x2=04
LIVING WORLD
I MORPHOLOGY OF FLOWERING ) 11.8
STRUCTURAL [PLANTS )
2 | ORGANISATION 04 x2=08
IN PLANTS AND
ANIMALS  |ANATOMY OF FLOWERING PLANTS 2 11.8
. CELL : THE UNIT OF LIFE 1 59
3 STRUCTURE 02 x2=04
AND FUNCTION
CELL CYCLE AND CELL DIVISION 1 5.9
TRANSPORT IN PLANTS 2 11.8
MINERAL NUTRITION 1 5.9
b PHOTOSYNTHESIS IN HIGHER
4 PLANT o Ao 2 11.8 09%x2=18
PHYSIOLOGY
RESPIRATION IN PLANTS 0, 11.8
PLANT GROWTH AND ) 118
DEVELOPMENT :
TOTAL - 17 100 34
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ZOOLOGY (SECTION-B)

SL. No. Of % TOTAL
I
NO ek ORI Question | WEIGHTAGE | MARKS
. THE LIVING WORLD 1 5.6
04 x 02
I |DIVERSITY IN THE|BIOLOGICAL CLASSIFICATION 1 5.6 - 08
LIVING WORLD
ANIMAL KINGDOM 2 11
i
STRUCTURAL STRUCTURAL ORGANISATION IN 01 x02
2 | ORGANISATION Pt 1 5.6 — 0
IN PLANTS AND =
ANIMALS
CELL : THE UNIT OF LIFE 1 5.6
1 04 x 02
3 | STRUCTURE AND |BIOMOLECULES 2 11 - 08
FUNCTION ‘ x
CELL CYCLE AND CELL DIVISION 1 5.6
DIGESTION AND ABSORPTION 2 11
BREATHING AND EXCHANGE OF 1 56
GASES i
BODY FLUIDS AND CIRCULATION 2 11
v EXCRETORY PRODUCTS AND 1 56 09 x 02
4 HUMAN THEIR ELIMNATION ' =18
PHYSIOLOGY
LOCOMOTION AND MOVEMENT 1 5.6
NEURAL CONTROL AND COORDINATION 1 5.6
CHEMICAL COORDINATION AND 1 56
INTEGRATION i
TOTAL > 18 100 36
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CLASS-XI
SUBJECT-BIOLOGY (fiq fasm)
SET-I
F.M.- 70 Time.-
GENERAL INSTRUCTIONS

The Question booklet consists of 35 multiple choice questions carrying 2 marks each
in two sections, 'A' containing 17 questions and 'B' containing 18 questions. All the
questions are compulsary.

SECTION -A (BOTANY)(@vs—3)) (@7t fagm)

Q. 1 Conversion of ammonia into nitrate through nitrosomonas is called
(A) Nitregen fixation
(B) Nitrification
(C) Denitrification
(D) Ammonification
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Q. 2 Loss of liquid water by guttation occurs through :
(A) Hydathodes
(B) Stomata
(C) Cuticle
(D) Bark
30 TECTH @ IRM T & § ...  §RI el 2 :
(#) Treeriew
(@)
() T
(@) T
Q. 3 A hormone delaying senescence is :
(A) Auxin
(B) Gibberellin
(C) Cytokinin
(D) Ethylene
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The members of rhodophyceae are commonly called as :

(A) Brown algae

(B) Red algae

(C) Green algae

(D) Yellow algae
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Which one is a vascular tissue ?
(A) Epidermis

(B) Pericycle

(C) Xylem & phloem

(D) Endodermis
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Which is present only in plant cell :

(A) Vacuole
(B) Plastid
(C) Mitochondria

(D) Lysosome
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First stable compound in C; Plant is :
(A) PGA

(B) OAA

(C) RuBP

(D) PEP
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Double fertilisation takes place in :
(A) Gymnosperms

(B) Bryophyta

(C) Angiosperms

(D) Pteridophyta
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Plasmolysis will occur when the cell is placed in ------------- solution.

(A) Hypotonic

(B) Hypertonic

(C) Isotonic

(D) Hypertonic & isotonic
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The site of glycolysis is :
(A) cytoplasm

(B) chloroplast

(C) Mitochondra

(D) Plastid
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Cytokinesis in plant cell takes place through :

(A) Cell plate

(B) Furrowing

(C) Depression

(D) Consrtiction
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Ligth reaction of photosynthesis occurs inside :
(A) Stroma

(B) Grana

(C) Endoplasmic reticulum

(D) Cytoplasm
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In aerobic respiration, total number of ATP molecules formed from 1
glucose molecule is :

(A) 28

(B) 32

(C) 38

(D) 20
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Which plant tissue retain its capacity of division throughout their life :
(A) Parenchyma
(B) Sclerenchyma
(C) Collenchyma

(D) Meristematic
#N & TRy PR HaTeda s WS e B Y Y B

Apical dominance is caused due to :
(A) Auxin

(B) Cytokinin

(C) Ethylene

(D) gibberellin
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Botanical name of sunflower is ;

(A) Helianthus annuus
(B) gossypium arboreum
(C) Brassica campestris

(D) pisum sativum
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Number of cotyledons in pea is :
(A)1
(B)2
©)3
(D) 4
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SECTION -B (ZOOLOGY) (@ve—3) (3= fasm)

Which is an example of animal connective tissue ?

(A) Skin

(B) Blood

(C) Muscle

(D) Nerve
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Basic unit of classification is ------------
(A) Genus

(B) Order

(C) Species

(D) Class
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Excretory organ in annelida is :
(A) Flame cell

(B) Malphigian tubule

(C) kidney

(D) Nephridia
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Presence of mammary gland is a characteristic of :

(A) Amphibia

(B) Mammal

(C) Aves

(D) Reptilia
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Well organised nucleus is not found in ---------

(A) Prokaryotic cell
(B) Eukaryotic cell
(C) Plant cell

(D) Nerve cell
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Excretory wastes of human is :
(A) Uric acid

(B) Uric acid & Urea

(C) Urea

(D) Ammonia
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Number of chambers in human heart :
(A) 1
(B)2
©)3
(D) 4
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The simplest form of carbohydrate is :
(A) Amino Acid

(B) Fatty acid

(C) Nucleic Acid

(D) glucose
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5 kingdom system of classification was proposed by :
(A) Whittaker

(B) Eichler

(C) Norman

(D) Brown
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Dental formula in human beings is :
(A) 3223
3223
(B) 2123
2123
(C) 1232
1232
(D) 2233
2233
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Respiratony pigment in human is :
(A) a- globulin

(B) Tubulin

(C) B- globulin

(D) haemoglobin
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Which is a reductional division of cell :

(A) Mitosis
(B) Meiosis
(C) Binary fission
(D) Fragmentation
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Number of floating ribs in human is :
(A) 6 pairs

(B) 2 pairs

(C) S pairs

(D) 3 pairs
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Nerve impulse is conducted by :

(A) Chemical signal

(B) Electric signal

(C) Physical signal

(D) Thermal signal
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In adult man, normal blood pressure is :
% A AT B H I 09 R

(A) 100/80 mm Hg
(B) 120/80 mm Hg
(C) 100/120 mm Hg
(D) 80/120 mm Hg
Insulin is secreted by :
(A) Adrenal gland
(B) Pituitary gland
(C) Pancreas

(D) Hypothalamus
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DNAisa:
(A) Carbohydrate
(B) Nucleic acid
(C) Protein
(D) Fat
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The largest gland in human alimentary canal is :

(A) Kidney
(B) Liver
(C) Heart
(D) Pancreas
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Section (A)
(Botany)

Answer key
Class- XI
Biology (SET-I)
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Section (B)
(Zoology)
1 B
2 C
3 D
4 B
S A
6 C
7 D
8 D
9 A
10 B
11 D
12 B
13 B
14 B
15 B
16 C
17 B
18 B
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